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 TrigonometryExercise4 Answers for No.9844
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 TrigonometryExercise4 Answers for No.9872
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
( )Cos 20 ( )Cos 25 ( )Sin 20 ( )Sin 25









( )Cos 45

2
2

.4






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.5


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.6








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.7














Sin


18







Cos


9







Cos


18







Sin


9















Sin


6

1
2

.8














Cos

5 
9







Cos


18







Sin

5 
9







Sin


18















Cos


2

0

.9















2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1 .10











( )Tan 10 ( )Tan 50

1 ( )Tan 10 ( )Tan 50
( )( )Tan 60 3

   





























































:)
:(
:)
:(

























































M
a
t
h
@
M
U
T
:)
:(
:)
:(
:)
:(

, , , ,  Ans3

































.1








( )Sin 

65
9

.2








( )Cos  

5
3

.3








( )Tan  

2 5
5

.4








( )Sin    

65 5
27

8
27

.5








( )Cos    

4 5
27

2 65
27

.6








( )Tan   

9 5
10

5 13
5

.7








( )Sin 2  

4 5
9

.8








( )Tan 2  

8 65
49
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.1






( )Cos 
3
5

.2








( )Sin  

2 14
9

.3








( )Tan 

2 14
5

.4








( )Sin   

4
9

2 14
15

.5








( )Cos    

1
3

8 14
45

.6








( )Tan   

972
671

250 14
671

.7






( )Cos 2 

-31
81

.8






( )Tan 2 

24
7
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 TrigonometryExercise4 Answers for No.9873
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.1








( )Cos 75 

2 3
4

2
4

.2
















Sin

7 
12


2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4
















Cos 


12


2
4

2 3
4

.5








( )Sin ( )-285  

2
4

2 3
4

.6 ( )( )Sec 345 2 3 2

.7














Cot 

13 
12

 2 3 .8














Csc

13 
12

 2 3 2
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.1








( )Cos 65 ( )Cos 20 ( )Sin 65 ( )Sin 20









( )Cos 45

2
2

.2














Sin


36







Cos

5 
36







Cos


36







Sin

5 
36















Sin


6

1
2

.3






( )Cos 40 ( )Cos 20 ( )Sin 40 ( )Sin 20







( )Cos 60
1
2

.4








( )Sin 85 ( )Cos 25 ( )Cos 85 ( )Sin 25









( )Sin 60

3
2

.5






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.6










2







Cos


12

2

1
















Cos


6

3
2

.7






























Tan


9







Tan

5 
36

1






Tan


9







Tan

5 
36















Tan


4

1 .8
















Cos


8

2






Sin


8

2 















Cos


4

2
2

.9






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.10








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2
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





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




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


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
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
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.1








( )Sin 

2 2
3

.2








( )Cos 

2 6
7

.3 ( )( )Tan  2 2 .4








( )Sin   

4 2 6
21

5
21

.5








( )Cos   

2 6
21

10 2
21

.6








( )Tan    

49 2
88

45 2 3
88

.7






( )Cos 2 

-7
9

.8 ( )( )Tan 2  20 6
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.1








( )Sin 

3
2

.2








( )Cos  

2 10
7

.3 ( )( )Tan   3 .4








( )Sin    

3 10
7

3
14

.5








( )Cos   

10
7

3 3
14

.6








( )Tan    

49 3
13

24 10
13

.7








( )Sin 2  

3
2

.8








( )Tan 2 

12 10
31
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, ,  Ans5 ( )( )Sin 21 ( )( )Sqrt 0.1285 0.358    
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, ,  Ans6 ( )( )Cos 31 ( )( )Sqrt 0.7345 0.857    
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 TrigonometryExercise4 Answers for No.9884
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





























.1
















Sin

7 
12


2
4

2 3
4

.2








( )Cos 15 

2
4

2 3
4

.3














Tan

5 
12

2 3 .4














Sec 

7 
12

 2 3 2

.5 ( )( )Csc ( )-15   2 3 2 .6
















Cos 

19 
12


2 3
4

2
4

.7 ( )( )Tan ( )-255   2 3 .8














Cot

17 
12

2 3
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

















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











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
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
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
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.1










( )Tan 10 ( )Tan 20

1 ( )Tan 10 ( )Tan 20








( )Tan 30

3
3

.2






2







Sin


12







Cos


12















Sin


6

1
2

.3 ( )( )Cos 110 ( )Cos 20 ( )Sin 110 ( )Sin 20 ( )( )Cos 90 0 .4








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.5
















Sin

11 
36







Cos


18







Cos

11 
36







Sin


18

















Sin


4

2
2

.6
















Sin


15







Cos

4 
15







Cos


15







Sin

4 
15

















Sin


3

3
2

.7















2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1 .8




























Tan

17 
36







Tan

5 
36

1






Tan

17 
36







Tan

5 
36















Tan


3

3

.9








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.10
















Cos


8

2






Sin


8

2 















Cos


4

2
2
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









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
















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


.1








( )Sin 

65
9

.2








( )Cos 

2 14
9

.3








( )Tan 

65
4

.4








( )Sin   

2 65 14
81

20
81

.5








( )Cos   

8 14
81

5 65
81

.6








( )Tan    

4 65
9

10 14
9

.7






( )Cos 2 

31
81

.8








( )Tan 2  

8 65
49
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





















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
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
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




.1








( )Sin 

2 10
7

.2








( )Cos  

5
3

.3








( )Tan 

2 5
5

.4








( )Sin    

2 10 5
21

2
7

.5








( )Cos   

5
7

4 10
21

.6








( )Tan   

54 2 5
115

98 5
115

.7






( )Cos 2 
1
9

.8








( )Tan 2 

12 10
31
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, ,  Ans5 ( )( )Sin 7 ( )( )Sqrt 0.0150 0.122    
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













M
U
T

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700304-00005XX
 TrigonometryExercise4 Answers for No.9885

, ,  Ans1
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
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





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














.1








( )Cos 105 

2
4

2 3
4

.2
















Sin

5 
12


2
4

2 3
4

.3














Tan


12

2 3 .4 ( )( )Sec ( )-345  2 3 2

.5
















Cos 

17 
12


2
4

2 3
4

.6
















Sin 

13 
12


2 3
4

2
4

.7 ( )( )Tan ( )-105  2 3 .8














Csc 

19 
12

2 3 2

   









































:)
:(
M
a
t
h
@
M
U
T
:)
:(

, ,  Ans2













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
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

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
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
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.1






( )Cos 70 ( )Cos 10 ( )Sin 70 ( )Sin 10







( )Cos 60
1
2

.2








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.3








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.4










1 2







Sin


8

2 















Cos


4

2
2

.5




























Tan

19 
60







Tan


15

1






Tan

19 
60







Tan


15















Tan


4

1 .6










( )Tan 40 ( )Tan 20

1 ( )Tan 40 ( )Tan 20
( )( )Tan 60 3

.7








( )Sin 25 ( )Cos 20 ( )Cos 25 ( )Sin 20









( )Sin 45

2
2

.8














Sin

7 
12







Cos


12







Cos

7 
12







Sin


12















Sin


2

1

.9













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.10










2







Cos


12

2

1
















Cos


6

3
2
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
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.1








( )Cos 

3 5
7

.2








( )Sin  

33
7

.3








( )Tan 

2 5
15

.4








( )Sin   

8
49

3 5 33
49

.5








( )Cos   

12 5
49

2 33
49

.6








( )Tan   

5
2

33
3

.7








( )Sin 2 

12 5
49

.8








( )Tan 2 

8 33
17
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.1








( )Cos  

3
2

.2








( )Sin 

5
3

.3








( )Tan 

3
3

.4








( )Sin    

5 3
6

1
3

.5








( )Cos   

3
3

5
6

.6








( )Tan   

9 3
7

8 5
7

.7








( )Sin 2  

4 5
9

.8 ( )( )Tan 2  3
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, ,  Ans5 ( )( )Sin 28 ( )( )Sqrt 0.2205 0.469    
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, ,  Ans6 ( )( )Cos 17 ( )( )Sqrt 0.9145 0.956    














M
U
T

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700304-00006XX
 TrigonometryExercise4 Answers for No.9895
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.1
















Cos


12


2
4

2 3
4

.2








( )Sin 105 

2
4

2 3
4

.3 ( )( )Tan 75 2 3 .4 ( )( )Cot 165  2 3

.5














Csc 

23 
12

2 3 2 .6

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












Cos 

11 
12

 
2
4

2 3
4

.7 ( )( )Sec ( )-285  2 3 2 .8 ( )( )Tan 195 2 3
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

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
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.1










( )Tan 55 ( )Tan 10

1 ( )Tan 55 ( )Tan 10
( )( )Tan 45 1 .2









2







Cos


8

2

1
















Cos


4

2
2

.3






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.4








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.5










( )Tan 15 ( )Tan 30

1 ( )Tan 15 ( )Tan 30
( )( )Tan 45 1 .6









( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.7














Sin

5 
18







Cos


9







Cos

5 
18







Sin


9















Sin


6

1
2

.8






2







Sin


12







Cos


12















Sin


6

1
2

.9














Cos

5 
36







Cos

7 
36







Sin

5 
36







Sin

7 
36















Cos


3

1
2

.10 ( )( )Sin 12 ( )Cos 78 ( )Cos 12 ( )Sin 78 ( )( )Sin 90 1
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





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
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
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.1








( )Cos 

2 6
5

.2








( )Sin  

3
2

.3 ( )( )Tan  3 .4








( )Sin    

1
10

6 3
5

.5








( )Cos    

6
5

3
10

.6








( )Tan   

25 3
21

8 2 3
21

.7








( )Sin 2 

3
2

.8








( )Tan 2 

4 6
23
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.1








( )Cos  

21
5

.2








( )Sin  

2 14
9

.3








( )Tan  

2 14
5

.4








( )Sin   

2
9

2 21 14
45

.5








( )Cos    

21
9

4 14
45

.6








( )Tan    

250 2 7
301

162 7 3
301

.7






( )Cos 2 

17
25

.8








( )Tan 2 

20 14
31
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 TrigonometryExercise4 Answers for No.9898

, ,  Ans1























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
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
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.1








( )Sin 75 

2
4

2 3
4

.2
















Cos

7 
12


2
4

2 3
4

.3














Tan


12

2 3 .4
















Cos

23 
12


2
4

2 3
4

.5 ( )( )Cot ( )-285  2 3 .6














Tan 


12

 2 3

.7 ( )( )Csc 165 2 3 2 .8














Sec 

13 
12

 2 3 2
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.1






























Tan

19 
60







Tan


15

1






Tan

19 
60







Tan


15















Tan


4

1 .2








2







Cos


12

2

1
















Cos


6

3
2

.3








( )Cos 42 ( )Cos 12 ( )Sin 42 ( )Sin 12









( )Cos 30

3
2

.4






























Tan


12







Tan


6

1






Tan


12







Tan


6















Tan


4

1

.5








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.6








2







Sin


8







Cos


8

















Sin


4

2
2

.7






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.8
















Sin


9







Cos

2 
9







Cos


9







Sin

2 
9

















Sin


3

3
2

.9








( )Sin 85 ( )Cos 25 ( )Cos 85 ( )Sin 25









( )Sin 60

3
2

.10








1 2 ( )Sin 15

2 







( )Cos 30

3
2
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









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


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





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
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




.1








( )Cos 

5
3

.2








( )Sin  

55
8

.3








( )Tan 

2 5
5

.4








( )Sin    

1
4

5 55
24

.5








( )Cos    

5
8

55
12

.6








( )Tan    

128 5
175

27 5 11
175

.7






( )Cos 2 
1
9

.8








( )Tan 2  

3 55
23
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.1








( )Cos  

3
2

.2








( )Sin  

2 6
7

.3








( )Tan  

3
3

.4








( )Sin   

5
14

6 3
7

.5








( )Cos    

5 3
14

6
7

.6








( )Tan    

40 2 3
51

49 3
51

.7






( )Cos 2 

1
49

.8 ( )( )Tan 2   3
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 TrigonometryExercise4 Answers for No.9899
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
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


.1








( )Cos 105 

2
4

2 3
4

.2
















Sin


12


2 3
4

2
4

.3














Tan

5 
12

2 3 .4 ( )( )Csc ( )-345  2 3 2

.5














Sec

23 
12

2 3 2 .6
















Cos

19 
12


2 3
4

2
4

.7 ( )( )Cot 165  2 3 .8














Tan 

19 
12

2 3
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.1
















Cos


10







Cos


15







Sin


10







Sin


15

















Cos


6

3
2

.2








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.3






( )Sin 35 ( )Cos 5 ( )Cos 35 ( )Sin 5







( )Sin 30
1
2

.4








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.5






























Tan

13 
36







Tan


9

1






Tan

13 
36







Tan


9















Tan


4

1 .6
















Cos


8

2






Sin


8

2 















Cos


4

2
2

.7






2







Sin


12







Cos


12















Sin


6

1
2

.8






























Tan

5 
18







Tan


18

1






Tan

5 
18







Tan


18















Tan


3

3

.9















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.10 ( )( )Sin 20 ( )Cos 70 ( )Cos 20 ( )Sin 70 ( )( )Sin 90 1
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


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
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.1








( )Cos 

2 6
7

.2








( )Sin  

3 5
7

.3








( )Tan  

3 5
2

.4








( )Sin   

10
49

6 6 5
49

.5








( )Cos   

4 6
49

15 5
49

.6








( )Tan    

10 6
21

2 5
7

.7






( )Cos 2 

-1
49

.8








( )Tan 2 

12 5
41
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




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
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
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







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






.1








( )Sin  

21
5

.2








( )Cos  

3
2

.3








( )Tan  

3
3

.4








( )Sin    

1
5

21 3
10

.5








( )Cos   

3
5

21
10

.6








( )Tan    

8 7 3
9

25 3
9

.7






( )Cos 2 

-17
25

.8 ( )( )Tan 2   3
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, ,  Ans5 ( )( )Cos 8 ( )( )Sqrt 0.9805 0.990    



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







M
U
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, ,  Ans6 ( )( )Sin 34 ( )( )Sqrt 0.3125 0.559    
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


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
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 TrigonometryExercise4 Answers for No.9920

, ,  Ans1































.1








( )Cos 75 

2 3
4

2
4

.2
















Sin


12


2 3
4

2
4

.3














Tan

7 
12

 2 3 .4














Tan 

13 
12

 2 3

.5








( )Cos ( )-285  

2 3
4

2
4

.6 ( )( )Sec ( )-165   2 3 2

.7














Cot

19 
12

 2 3 .8 ( )( )Csc ( )-15   2 3 2
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, ,  Ans2





















































.1








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.2










( )Tan 55 ( )Tan 10

1 ( )Tan 55 ( )Tan 10
( )( )Tan 45 1

.3
















Sin


15







Cos

4 
15







Cos


15







Sin

4 
15

















Sin


3

3
2

.4


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.5






( )Sin 50 ( )Cos 20 ( )Cos 50 ( )Sin 20







( )Sin 30
1
2

.6








2 ( )Cos 15

2
1









( )Cos 30

3
2

.7






2







Sin


12







Cos


12















Sin


6

1
2

.8




























Tan


15







Tan

11 
60

1






Tan


15







Tan

11 
60















Tan


4

1

.9














Cos

11 
18







Cos


9







Sin

11 
18







Sin


9















Cos


2

0 .10






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6
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







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
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
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













.1








( )Sin 

3 5
7

.2






( )Cos 

-3
5

.3






( )Tan 
4
3

.4








( )Sin    

9 5
35

8
35

.5








( )Cos    

6
35

12 5
35

.6








( )Tan    

49
57

25 5
114

.7






( )Cos 2 

-7
25

.8








( )Tan 2  

12 5
41
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.1








( )Cos  

2 2
3

.2








( )Sin  

3
2

.3 ( )( )Tan   3 .4








( )Sin   

2 3
3

1
6

.5








( )Cos    

2
3

3
6

.6








( )Tan    

8 2
5

9 3
5

.7






( )Cos 2 
7
9

.8 ( )( )Tan 2  3
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, ,  Ans5 ( )( )Cos 12 ( )( )Sqrt 0.9570 0.978    
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
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

M
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, ,  Ans6 ( )( )Sin 42 ( )( )Sqrt 0.4475 0.669    
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 TrigonometryExercise4 Answers for No.10000
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.1
















Cos


12


2
4

2 3
4

.2








( )Sin 105 

2
4

2 3
4

.3














Tan

5 
12

2 3 .4














Sec 

23 
12

2 3 2

.5








( )Cos ( )-165   

2
4

2 3
4

.6








( )Sin ( )-105   

2
4

2 3
4

.7














Csc 


12

 2 3 2 .8














Cot

11 
12

 2 3
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
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




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










.1








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.2








( )Cos 50 ( )Cos 20 ( )Sin 50 ( )Sin 20









( )Cos 30

3
2

.3






( )Cos 40 ( )Cos 20 ( )Sin 40 ( )Sin 20







( )Cos 60
1
2

.4














Sin

17 
30







Cos


15







Cos

17 
30







Sin


15















Sin


2

1

.5










( )Tan 10 ( )Tan 20

1 ( )Tan 10 ( )Tan 20








( )Tan 30

3
3

.6










1 2







Sin


12

2 















Cos


6

3
2

.7















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.8










2







Cos


8

2

1
















Cos


4

2
2

.9






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.10
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



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
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

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Tan

13 
36







Tan


9

1






Tan

13 
36







Tan


9















Tan


4

1
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
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.1






( )Sin 
3
5

.2








( )Cos  

2 6
5

.3








( )Tan  

6
12

.4








( )Sin    

6 6
25

4
25

.5








( )Cos    

8 6
25

3
25

.6








( )Tan    

2 6
15

4
5

.7








( )Sin 2  

4 6
25

.8






( )Tan 2 

24
7
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.1






( )Sin 

-4
5

.2








( )Cos 

3
2

.3








( )Tan  

3
3

.4








( )Sin    

2 3
5

3
10

.5








( )Cos    

3 3
10

2
5

.6








( )Tan    

25 3
11

48
11

.7








( )Sin 2  

3
2

.8






( )Tan 2 

-24
7
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, ,  Ans5 ( )( )Cos 23 ( )( )Sqrt 0.8475 0.921    
















M
U
T
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 TrigonometryExercise4 Answers for No.10017
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.1








( )Cos 105 

2
4

2 3
4

.2
















Sin

5 
12


2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4














Cot

23 
12

 2 3

.5








( )Sin ( )-255  

2
4

2 3
4

.6 ( )( )Sec 255  2 3 2

.7
















Cos 

19 
12


2 3
4

2
4

.8 ( )( )Csc ( )-75   2 3 2
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.1













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.2








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.3










2







Cos


8

2

1
















Cos


4

2
2

.4






( )Sin 18 ( )Cos 12 ( )Cos 18 ( )Sin 12







( )Sin 30
1
2

.5




























Tan


15







Tan

11 
60

1






Tan


15







Tan

11 
60















Tan


4

1 .6






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.7








1 2







Sin


12

2 















Cos


6

3
2

.8 ( )( )Cos 105 ( )Cos 15 ( )Sin 105 ( )Sin 15 ( )( )Cos 90 0

.9




























Tan

7 
18







Tan


18

1






Tan

7 
18







Tan


18















Tan


3

3 .10














Cos


9







Cos

2 
9







Sin


9







Sin

2 
9















Cos


3

1
2
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








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
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


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
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
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
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.1








( )Cos 

65
9

.2








( )Sin  

55
8

.3








( )Tan 

4 65
65

.4








( )Sin    

1
6

65 55
72

.5








( )Cos    

65
24

55
18

.6








( )Tan    

256 5 13
295

243 5 11
295

.7








( )Sin 2 

8 65
81

.8








( )Tan 2  

3 55
23
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.1








( )Cos 

39
8

.2








( )Sin 

11
6

.3








( )Tan  

11
5

.4








( )Sin   

25
48

39 11
48

.5








( )Cos    

5 39
48

5 11
48

.6








( )Tan    

9 39
35

16 11
35

.7








( )Sin 2  

5 11
18

.8








( )Tan 2  

5 39
7
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, ,  Ans5 ( )( )Cos 20 ( )( )Sqrt 0.8830 0.940    
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 TrigonometryExercise4 Answers for No.10025
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


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
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





















.1








( )Cos 75 

2 3
4

2
4

.2
















Sin

7 
12


2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4
















Sin

11 
12


2 3
4

2
4

.5 ( )( )Cot ( )-285  2 3 .6














Sec 

17 
12

 2 3 2

.7 ( )( )Csc ( )-195  2 3 2 .8














Tan

19 
12

 2 3
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




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



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

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
















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
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










.1








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.2








( )Sin 80 ( )Cos 20 ( )Cos 80 ( )Sin 20









( )Sin 60

3
2

.3










2







Cos


12

2

1
















Cos


6

3
2

.4








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.5






























Tan


12







Tan


6

1






Tan


12







Tan


6















Tan


4

1 .6










( )Tan 42 ( )Tan 12

1 ( )Tan 42 ( )Tan 12








( )Tan 30

3
3

.7















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.8














Cos

11 
18







Cos


9







Sin

11 
18







Sin


9















Cos


2

0

.9








2







Sin


8







Cos


8

















Sin


4

2
2

.10














Cos

5 
18







Cos


18







Sin

5 
18







Sin


18















Cos


3

1
2

   





























































:)
:(
:)
:(

























































M
a
t
h
@
M
U
T
:)
:(
:)
:(
:)
:(

, , , ,  Ans3

































.1








( )Cos 

5
3

.2








( )Sin 

11
6

.3








( )Tan  

11
5

.4








( )Sin   

5 11
18

5
9

.5








( )Cos    

5 5
18

11
9

.6








( )Tan   

8 5
9

5 11
9

.7








( )Sin 2 

4 5
9

.8








( )Tan 2  

5 11
7
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.1






( )Cos 

-4
5

.2








( )Sin  

2 6
5

.3 ( )( )Tan  2 6 .4








( )Sin   

8 6
25

3
25

.5








( )Cos    

4
25

6 6
25

.6








( )Tan    

3
2

6
4

.7






( )Cos 2 

-23
25

.8






( )Tan 2 

24
7
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 TrigonometryExercise4 Answers for No.10057
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.1
















Sin

5 
12


2
4

2 3
4

.2








( )Cos 15 

2
4

2 3
4

.3














Tan

7 
12

 2 3 .4














Csc

17 
12

 2 3 2

.5 ( )( )Tan 345  2 3 .6
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4

2 3
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

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
Cot

13 
12
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.1






























Tan


3







Tan


12

1






Tan


3







Tan


12















Tan


4

1 .2






( )Cos 80 ( )Cos 20 ( )Sin 80 ( )Sin 20







( )Cos 60
1
2

.3






( )Sin 40 ( )Cos 10 ( )Cos 40 ( )Sin 10







( )Sin 30
1
2

.4








2 ( )Cos 15

2
1









( )Cos 30

3
2

.5













2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1 .6

















Sin


9







Cos

2 
9







Cos


9







Sin

2 
9

















Sin


3

3
2

.7


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.8








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.9








( )Cos 35 ( )Cos 10 ( )Sin 35 ( )Sin 10









( )Cos 45

2
2

.10






2







Sin


12







Cos


12



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









Sin


6

1
2
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.1








( )Sin 

3
2

.2








( )Cos  

11
6

.3 ( )( )Tan  3 .4








( )Sin    

3 11
12

5
12

.5








( )Cos    

11
12

5 3
12

.6








( )Tan    

9 3
16

5 11
16

.7








( )Sin 2 

5 11
18

.8 ( )( )Tan 2   3
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.1








( )Sin 

3
2

.2








( )Cos 

15
4

.3 ( )( )Tan   3 .4








( )Sin   

3 15
8

1
8

.5








( )Cos    

15
8

3
8

.6








( )Tan    

4 3
3

5 3
3

.7








( )Sin 2  

15
8

.8 ( )( )Tan 2  3
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, ,  Ans5 ( )( )Cos 42 ( )( )Sqrt 0.5525 0.743    
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







M
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, ,  Ans6 ( )( )Sin 11 ( )( )Sqrt 0.0365 0.191    
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 TrigonometryExercise4 Answers for No.10061

, ,  Ans1





























.1








( )Sin 15 

2 3
4

2
4

.2
















Cos

5 
12


2 3
4

2
4

.3 ( )( )Tan 105  2 3 .4 ( )( )Tan ( )-285  2 3

.5














Cot

17 
12

2 3 .6








( )Sin ( )-255  

2
4

2 3
4

.7
















Cos 

7 
12


2
4

2 3
4

.8














Sec

23 
12

2 3 2
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







































.1










( )Tan 10 ( )Tan 50

1 ( )Tan 10 ( )Tan 50
( )( )Tan 60 3 .2









( )Cos 35 ( )Cos 10 ( )Sin 35 ( )Sin 10









( )Cos 45

2
2

.3










1 2







Sin


12

2 















Cos


6

3
2

.4










2







Cos


8

2

1
















Cos


4

2
2

.5
















Sin

7 
18







Cos


18







Cos

7 
18







Sin


18

















Sin


3

3
2

.6








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.7








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.8















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.9
















Cos

13 
36







Cos


9







Sin

13 
36







Sin


9

















Cos


4

2
2

.10










( )Tan 35 ( )Tan 5

1 ( )Tan 35 ( )Tan 5








( )Tan 30

3
3

   





























































:)
:(
:)
:(

























































M
a
t
h
@
M
U
T
:)
:(
:)
:(
:)
:(

, , , ,  Ans3






















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









.1








( )Sin 

33
7

.2








( )Cos  

3
2

.3








( )Tan  

3
3

.4








( )Sin   

2
7

33 3
14

.5








( )Cos    

2 3
7

33
14

.6








( )Tan   

16 3 11
15

49 3
15

.7






( )Cos 2 
1
2

.8








( )Tan 2  

8 33
17
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
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
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
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
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


.1








( )Cos  

3
2

.2








( )Sin  

2 14
9

.3








( )Tan 

3
3

.4








( )Sin    

5
18

3 14
9

.5








( )Cos    

5 3
18

14
9

.6








( )Tan   

81 3
19

40 14
19

.7








( )Sin 2  

20 14
81

.8 ( )( )Tan 2  3
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, ,  Ans5 ( )( )Sin 37 ( )( )Sqrt 0.3620 0.602    
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









M
U
T

, ,  Ans6 ( )( )Cos 6 ( )( )Sqrt 0.9890 0.995    
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 TrigonometryExercise4 Answers for No.10071
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.1
















Cos

5 
12


2 3
4

2
4

.2








( )Sin 15 

2 3
4

2
4

.3














Tan

7 
12

 2 3 .4








( )Cos 195  

2
4

2 3
4

.5














Sec 


12

2 3 2 .6














Tan 

23 
12

2 3

.7 ( )( )Cot ( )-105  2 3 .8








( )Sin 165 

2 3
4

2
4
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 TrigonometryExercise4 Answers for No.10088
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
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












Cos


9







Cos


18







Sin


9







Sin


18

















Cos


6

3
2
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
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
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.1








( )Cos 

7
4

.2








( )Sin  

15
4

.3








( )Tan 

3 7
7

.4








( )Sin    

7 15
16

3
16

.5








( )Cos   

7
16

3 15
16

.6








( )Tan    

3 7
8

15
8

.7








( )Sin 2 

3 7
8

.8








( )Tan 2 

15
7
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.1






( )Cos 

-3
5

.2








( )Sin 

21
5

.3






( )Tan 
4
3

.4








( )Sin   

8
25

3 21
25

.5








( )Cos   

6
25

4 21
25

.6








( )Tan   

21
6

1

.7






( )Cos 2 

-7
25

.8








( )Tan 2 

4 21
17
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 TrigonometryExercise4 Answers for No.10385
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
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
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
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.1








( )Cos 15 

2
4

2 3
4

.2
















Sin

7 
12


2
4

2 3
4

.3














Tan

5 
12

2 3 .4














Cot 

13 
12

 2 3

.5 ( )( )Csc 255  2 3 2 .6








( )Cos ( )-165   

2
4

2 3
4

.7














Sec

23 
12

2 3 2 .8 ( )( )Tan 195 2 3
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.1










1 2







Sin


8

2 















Cos


4

2
2

.2
















Sin

5 
36







Cos


9







Cos

5 
36







Sin


9

















Sin


4

2
2

.3








( )Cos 65 ( )Cos 20 ( )Sin 65 ( )Sin 20









( )Cos 45

2
2

.4








( )Cos 18 ( )Cos 12 ( )Sin 18 ( )Sin 12









( )Cos 30

3
2

.5






2







Sin


12







Cos


12















Sin


6

1
2

.6








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.7 ( )( )Sin 100 ( )Cos 10 ( )Cos 100 ( )Sin 10 ( )( )Sin 90 1 .8




























Tan

4 
15







Tan


15

1






Tan

4 
15







Tan


15















Tan


3

3

.9








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.10













2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1
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.1








( )Cos 

39
8

.2








( )Sin  

21
5

.3








( )Tan 

5 39
39

.4








( )Sin    

1
4

39 21
40

.5








( )Cos    

39
20

21
8

.6








( )Tan    

128 7 3
369

125 3 13
369

.7






( )Cos 2 

7
32

.8








( )Tan 2  

4 21
17
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.1








( )Sin  

3
2

.2








( )Cos  

2 2
3
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 TrigonometryExercise4 Answers for No.10387
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





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
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Sin
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12

 
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
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
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
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
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
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
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
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3
3

.7










2







Cos


12

2

1



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






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

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
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3
2

.8








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


( )Cos 30

3
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






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

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19 
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
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
15







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
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.1








( )Sin 

2 2
3

.2








( )Cos  

7
4

.3








( )Tan  

3 7
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.4








( )Sin    

2 7
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1
4

.5








( )Cos    

7
12

2
2

.6








( )Tan   

27 7
65

32 2
65

.7


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

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8
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
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2 2
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
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
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4 2
9

5
9

.6








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, ,  Ans5 ( )( )Cos 34 ( )( )Sqrt 0.6875 0.829    
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 TrigonometryExercise4 Answers for No.10914
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
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
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
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
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
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


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
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
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
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











.1








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.2








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.3






2







Sin


12







Cos


12















Sin


6

1
2

.4






























Tan

4 
15







Tan


15

1






Tan

4 
15







Tan


15















Tan


3

3

.5








( )Cos 12 ( )Cos 33 ( )Sin 12 ( )Sin 33









( )Cos 45

2
2

.6















2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1

.7






( )Sin 42 ( )Cos 12 ( )Cos 42 ( )Sin 12







( )Sin 30
1
2

.8










( )Tan 80 ( )Tan 20

1 ( )Tan 80 ( )Tan 20
( )( )Tan 60 3

.9










2







Cos


8

2

1
















Cos


4

2
2

.10














Sin

5 
12







Cos


12







Cos

5 
12







Sin


12















Sin


2

1
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.1








( )Sin 

2 6
5

.2








( )Cos  

7
4

.3








( )Tan 

3 7
7

.4








( )Sin    

3
20

6 7
10

.5








( )Cos    

7
20

3 6
10

.6








( )Tan    

32 6
209

75 7
209

.7






( )Cos 2 

-1
8

.8








( )Tan 2  

4 6
23
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.1








( )Cos  

55
8

.2








( )Sin  

3
2

.3 ( )( )Tan   3 .4








( )Sin   

55 3
16

3
16

.5








( )Cos    

55
16

3 3
16

.6








( )Tan    

3 55
7

16 3
7

.7






( )Cos 2 

-1
2

.8








( )Tan 2  

3 55
23
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 TrigonometryExercise4 Answers for No.10945
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.1
















Sin


12


2 3
4

2
4

.2








( )Cos 105 

2
4

2 3
4

.3 ( )( )Tan 75 2 3 .4














Sec 

5 
12

2 3 2

.5








( )Cos 165  

2
4

2 3
4

.6














Cot

13 
12

2 3

.7








( )Sin ( )-195  

2 3
4

2
4

.8 ( )( )Csc ( )-345  2 3 2
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.1








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.2


















Cos


12

2






Sin


12

2 















Cos


6

3
2

.3














Sin

2 
9







Cos


18







Cos

2 
9







Sin


18















Sin


6

1
2

.4















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.5








2







Sin


8







Cos


8

















Sin


4

2
2

.6








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.7








( )Cos 30 ( )Cos 15 ( )Sin 30 ( )Sin 15









( )Cos 45

2
2

.8
















Cos

19 
60







Cos


15







Sin

19 
60







Sin


15

















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2
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( )( )Tan 60 3 .10
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.1








( )Sin 

65
9

.2








( )Cos  

3 5
7

.3








( )Tan 

65
4

.4








( )Sin   

8
63

65 5
21

.5








( )Cos    

4 5
21

2 65
63

.6








( )Tan   

49 5 13
115

243 5
230

.7






( )Cos 2 

41
49

.8








( )Tan 2  

8 65
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5
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







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5
2

.4








( )Sin   

2 2 5
9

2
9

.5








( )Cos    

4 2
9

5
9

.6




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2 5
3
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 TrigonometryExercise4 Answers for No.10954
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















Sin


12


2 3
4

2
4

.2








( )Cos 75 

2 3
4

2
4

.3 ( )( )Tan 105  2 3 .4














Tan 

19 
12

2 3

.5 ( )( )Cot ( )-165  2 3 .6
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
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
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4

2 3
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.1
















Sin

11 
36







Cos


18







Cos

11 
36







Sin


18

















Sin


4

2
2

.2








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.3








2







Sin


8







Cos


8

















Sin


4

2
2
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



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










2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.5










( )Tan 12 ( )Tan 33

1 ( )Tan 12 ( )Tan 33
( )( )Tan 45 1 .6











( )Tan 70 ( )Tan 10

1 ( )Tan 70 ( )Tan 10
( )( )Tan 60 3

.7


















Cos


12

2






Sin


12

2 















Cos


6

3
2

.8








2 ( )Cos 15

2
1









( )Cos 30

3
2

.9






( )Cos 10 ( )Cos 50 ( )Sin 10 ( )Sin 50







( )Cos 60
1
2

.10










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

Sin


18
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
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

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
9



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
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
18
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
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Sin


9















Sin


6

1
2
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.1








( )Cos 

3
2

.2








( )Sin 

2 10
7

.3








( )Tan 

3
3

.4








( )Sin    

3
14

3 10
7

.5








( )Cos   

10
7

3 3
14

.6








( )Tan    

49 3
13

24 10
13

.7






( )Cos 2 
1
2

.8








( )Tan 2 

12 10
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.1








( )Sin  

2 6
7

.2








( )Cos 

11
6

.3








( )Tan 

2 6
5

.4








( )Sin   

25
42

6 11
21

.5








( )Cos    

5 11
42

5 6
21

.6








( )Tan    

72 6
65

49 11
65

.7








( )Sin 2 

20 6
49

.8








( )Tan 2 

5 11
7
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, ,  Ans5 ( )( )Sin 40 ( )( )Sqrt 0.4130 0.643    
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, ,  Ans6 ( )( )Cos 15 ( )( )Sqrt 0.9330 0.966    
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 TrigonometryExercise4 Answers for No.10966

, ,  Ans1
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
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























.1








( )Cos 75 

2 3
4

2
4

.2
















Sin

7 
12


2
4

2 3
4

.3














Tan


12

2 3 .4














Csc

13 
12

 2 3 2

.5








( )Cos ( )-105  

2
4

2 3
4

.6














Tan 

23 
12

2 3

.7 ( )( )Cot ( )-15   2 3 .8
















Sin

17 
12

 
2
4

2 3
4
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.1








2







Cos


12

2

1
















Cos


6

3
2

.2






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.3








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.4






( )Cos 72 ( )Cos 12 ( )Sin 72 ( )Sin 12







( )Cos 60
1
2

.5






























Tan


9







Tan

5 
36

1






Tan


9







Tan

5 
36















Tan


4

1 .6








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.7






























Tan

7 
30







Tan


15

1






Tan

7 
30







Tan


15

















Tan


6

3
3

.8








2







Sin


8







Cos


8

















Sin


4

2
2

.9 ( )( )Cos 15 ( )Cos 75 ( )Sin 15 ( )Sin 75 ( )( )Cos 90 0 .10








( )Sin 60 ( )Cos 15 ( )Cos 60 ( )Sin 15









( )Sin 45

2
2
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


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

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
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
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
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


.1








( )Sin 

3
2

.2








( )Cos  

55
8

.3








( )Tan  

3 55
55

.4








( )Sin    

55 3
16

3
16

.5








( )Cos    

55
16

3 3
16

.6








( )Tan    

3 55
7

16 3
7

.7






( )Cos 2 

23
32

.8 ( )( )Tan 2   3
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.1








( )Cos 

39
8

.2








( )Sin  

3
2

.3








( )Tan  

5 39
39

.4








( )Sin   

5
16

3 39
16

.5








( )Cos    

39
16

5 3
16

.6








( )Tan    

16 3
9

5 3 13
9

.7








( )Sin 2  

5 39
32

.8 ( )( )Tan 2   3
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, ,  Ans5 ( )( )Cos 43 ( )( )Sqrt 0.5350 0.731    
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, ,  Ans6 ( )( )Sin 32 ( )( )Sqrt 0.2810 0.530    
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 TrigonometryExercise4 Answers for No.11154
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.1
















Cos

7 
12


2
4

2 3
4

.2








( )Sin 15 

2 3
4

2
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



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

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7 
36



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
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

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
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
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
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
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
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
Cos


9







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



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







Sin


4

2
2
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
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
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( )Cos 2 

-7
25

.8 ( )( )Tan 2  20 6

   









































:)
:(
M
a
t
h
@
M
U
T
:)
:(

, ,  Ans5 ( )( )Cos 9 ( )( )Sqrt 0.9755 0.988    
















M
U
T

, ,  Ans6 ( )( )Sin 25 ( )( )Sqrt 0.1785 0.423    














M
U
T

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700304-00024XX
 TrigonometryExercise4 Answers for No.11191
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.3 ( )( )Cos 70 ( )Cos 20 ( )Sin 70 ( )Sin 20 ( )( )Cos 90 0 .4 ( )( )Cos 100 ( )Cos 10 ( )Sin 100 ( )Sin 10 ( )( )Cos 90 0
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


























Tan


9







Tan

5 
36

1






Tan


9







Tan

5 
36















Tan


4

1 .6






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.7






2







Sin


12







Cos


12















Sin


6

1
2

.8








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.9








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.10








2







Cos


8

2

1
















Cos


4

2
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.1








( )Cos 

65
9

.2








( )Sin  

7
4

.3








( )Tan 

4 65
65

.4








( )Sin    

65 7
36

1
3

.5








( )Cos   

65
12

7
9

.6








( )Tan   

64 65
473

243 7
473

.7








( )Sin 2  

3 7
8

.8








( )Tan 2 

8 65
49
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.1








( )Cos  

33
7

.2








( )Sin 

11
6

.3








( )Tan 

4 33
33

.4








( )Sin   

10
21

33 11
42

.5








( )Cos   

5 33
42

2 11
21

.6








( )Tan   

144 3 11
649

245 11
649

.7








( )Sin 2  

5 11
18

.8








( )Tan 2 

8 33
17
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 TrigonometryExercise4 Answers for No.11309

, ,  Ans1




















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
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
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.1
















Cos

7 
12


2
4

2 3
4

.2








( )Sin 15 

2 3
4

2
4

.3 ( )( )Tan 75 2 3 .4 ( )( )Tan 195 2 3

.5
















Sin

23 
12


2
4

2 3
4

.6














Csc 

13 
12

2 3 2

.7 ( )( )Sec ( )-75  2 3 2 .8














Cot 

23 
12

2 3
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.1








2







Sin


8







Cos


8

















Sin


4

2
2

.2






( )Sin 42 ( )Cos 12 ( )Cos 42 ( )Sin 12







( )Sin 30
1
2

.3








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.4








2 ( )Cos 15

2
1









( )Cos 30

3
2

.5




























Tan

11 
36







Tan


18

1






Tan

11 
36







Tan


18















Tan


4

1 .6
















Sin

5 
18







Cos


18







Cos

5 
18







Sin


18

















Sin


3

3
2

.7










1 2







Sin


12

2 















Cos


6

3
2

.8 ( )( )Cos 102 ( )Cos 12 ( )Sin 102 ( )Sin 12 ( )( )Cos 90 0

.9






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.10






























Tan


18







Tan


9

1






Tan


18







Tan


9

















Tan


6

3
3
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

























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
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


.1








( )Cos 

33
7

.2






( )Sin 

-4
5

.3






( )Tan 
4
3

.4








( )Sin    

12
35

4 33
35

.5








( )Cos    

3 33
35

16
35

.6








( )Tan   

588
41

100 33
41

.7






( )Cos 2 

17
49

.8






( )Tan 2 

-24
7
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.1








( )Sin  

39
8

.2








( )Cos  

2 2
3

.3








( )Tan  

39
5

.4








( )Sin   

39 2
12

5
24

.5








( )Cos    

5 2
12

39
24

.6








( )Tan    

128 2
161

45 39
161

.7






( )Cos 2 
7
9

.8








( )Tan 2 

5 39
7
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, ,  Ans5 ( )( )Cos 38 ( )( )Sqrt 0.6210 0.788    
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, ,  Ans6 ( )( )Sin 9 ( )( )Sqrt 0.0245 0.156    
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 TrigonometryExercise4 Answers for No.12483
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
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













.1
















Cos


12


2
4

2 3
4

.2








( )Sin 75 

2
4

2 3
4

.3 ( )( )Tan 105  2 3 .4 ( )( )Sec ( )-195   2 3 2

.5














Cot 

11 
12

2 3 .6








( )Cos 345 

2
4

2 3
4

.7
















Sin

13 
12


2
4

2 3
4

.8 ( )( )Tan 165  2 3

   









































:)
:(
M
a
t
h
@
M
U
T
:)
:(

, ,  Ans2


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

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


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

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
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



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




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






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
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


.1








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.2








2







Sin


8







Cos


8

















Sin


4

2
2

.3










( )Tan 25 ( )Tan 20

1 ( )Tan 25 ( )Tan 20
( )( )Tan 45 1 .4

















Cos


9







Cos


18







Sin


9







Sin


18

















Cos


6

3
2

.5








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.6














Cos

4 
9







Cos


9







Sin

4 
9







Sin


9















Cos


3

1
2

.7








( )Sin 20 ( )Cos 40 ( )Cos 20 ( )Sin 40









( )Sin 60

3
2

.8














Sin

5 
18







Cos


9







Cos

5 
18







Sin


9















Sin


6

1
2

.9






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.10


















Cos


12

2






Sin


12

2 















Cos


6

3
2
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




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


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
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
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
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
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


.1








( )Cos 

2 6
5

.2








( )Sin  

35
6

.3








( )Tan 

6
12

.4








( )Sin    

6 35
15

1
30

.5








( )Cos    

6
15

35
30

.6








( )Tan    

72 6
11

25 35
11

.7








( )Sin 2 

35
18

.8








( )Tan 2 

4 6
23
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
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
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.1






( )Sin 

-3
5

.2








( )Cos  

11
6

.3






( )Tan 

-3
4

.4








( )Sin   

2
3

11
10

.5








( )Cos    

2 11
15

1
2

.6








( )Tan   

432
49

125 11
49

.7






( )Cos 2 

7
25

.8








( )Tan 2 

5 11
7
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, ,  Ans5 ( )( )Sin 32 ( )( )Sqrt 0.2810 0.530    
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, ,  Ans6 ( )( )Cos 6 ( )( )Sqrt 0.9890 0.995    
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 TrigonometryExercise4 Answers for No.12557
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
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
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





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
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


.1
















Cos

5 
12


2 3
4

2
4

.2








( )Sin 105 

2
4

2 3
4

.3














Tan


12

2 3 .4














Tan 

13 
12

 2 3

.5 ( )( )Sec 195  2 3 2 .6








( )Sin ( )-165  

2
4

2 3
4

.7














Csc 

5 
12

 2 3 2 .8
















Cos

23 
12


2
4

2 3
4
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













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


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.1








2







Cos


12

2

1
















Cos


6

3
2

.2








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.3








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.4


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.5
















Cos

11 
60







Cos


15







Sin

11 
60







Sin


15

















Cos


4

2
2

.6








( )Sin 25 ( )Cos 35 ( )Cos 25 ( )Sin 35









( )Sin 60

3
2

.7














Sin

7 
36







Cos


36







Cos

7 
36







Sin


36















Sin


6

1
2

.8




























Tan

19 
60







Tan


15

1






Tan

19 
60







Tan


15















Tan


4

1

.9










( )Tan 10 ( )Tan 20

1 ( )Tan 10 ( )Tan 20








( )Tan 30

3
3

.10













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

   





























































:)
:(
:)
:(

























































M
a
t
h
@
M
U
T
:)
:(
:)
:(
:)
:(

, , , ,  Ans3






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
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


.1








( )Cos 

3
2

.2








( )Sin 

15
4

.3 ( )( )Tan   15 .4








( )Sin    

1
8

3 15
8

.5








( )Cos    

3
8

15
8

.6








( )Tan   

5 3
3

4 3
3

.7








( )Sin 2 

3
2

.8








( )Tan 2 

15
7
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.1








( )Sin  

11
6

.2








( )Cos  

35
6

.3








( )Tan  

11
5

.4








( )Sin    

5
36

11 35
36

.5








( )Cos    

5 35
36

11
36

.6








( )Tan    

5 11
24

35
24

.7






( )Cos 2 

17
18

.8








( )Tan 2  

5 11
7
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, ,  Ans5 ( )( )Cos 3 ( )( )Sqrt 0.9975 0.999    
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, ,  Ans6 ( )( )Sin 22 ( )( )Sqrt 0.1405 0.375    














M
U
T

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700304-00028XX
 TrigonometryExercise4 Answers for No.12637
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


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

.1
















Sin


12


2 3
4

2
4

.2








( )Cos 75 

2 3
4

2
4

.3 ( )( )Tan 105  2 3 .4 ( )( )Csc ( )-345  2 3 2

.5














Cot 

17 
12

 2 3 .6 ( )( )Sec 345 2 3 2
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
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
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

( )Tan 48 ( )Tan 12

1 ( )Tan 48 ( )Tan 12
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Sin

17 
30







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
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
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4
15

4 65
45

.6
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 TrigonometryExercise4 Answers for No.12689
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2 10
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4 2 10
21

1
7

.5
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.8








( )Tan 2 

4 2
7

     Ans4

































.1






( )Sin 

-3
5

.2








( )Cos  

3
2

.3






( )Tan 

-3
4

.4








( )Sin   

3 3
10

2
5

.5








( )Cos    

2 3
5

3
10

.6








( )Tan   

25 3
39

16
13

.7






( )Cos 2 

7
25

.8 ( )( )Tan 2   3

   









































:)
:(
M
a
t
h
@
M
U
T
:)
:(

, ,  Ans5 ( )( )Sin 9 ( )( )Sqrt 0.0245 0.156    
















M
U
T

, ,  Ans6 ( )( )Cos 25 ( )( )Sqrt 0.8215 0.906    














M
U
T

X [Page = 0029] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:
:
:
:
:
:
:
:
:



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6700304-00030XX
 TrigonometryExercise4 Answers for No.13349
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
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
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
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







( )Sin    

1
30

6 35
15

.5








( )Cos    

35
30

6
15

.6








( )Tan   

72 6
11

25 35
11

.7








( )Sin 2 

4 6
25

.8








( )Tan 2 

35
17
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.1








( )Sin  

5
3

.2








( )Cos  

3
2

.3








( )Tan  

3
3

.4








( )Sin   

5 3
6

1
3

.5








( )Cos    

3
3

5
6

.6








( )Tan    

8 5
7

9 3
7

.7






( )Cos 2 

-1
9

.8 ( )( )Tan 2   3

   









































:)
:(
M
a
t
h
@
M
U
T
:)
:(

, ,  Ans5 ( )( )Sin 32 ( )( )Sqrt 0.2810 0.530    
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, ,  Ans6 ( )( )Cos 11 ( )( )Sqrt 0.9635 0.982    
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 TrigonometryExercise4 Answers for No.13519
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.1
















Sin


12


2 3
4

2
4

.2








( )Cos 105 

2
4

2 3
4

.3














Tan

5 
12

2 3 .4 ( )( )Sec 165  2 3 2

.5














Cot 

13 
12

 2 3 .6
















Cos 

11 
12

 
2
4

2 3
4

.7 ( )( )Tan 195 2 3 .8 ( )( )Csc 345  2 3 2
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.1








( )Cos 35 ( )Cos 5 ( )Sin 35 ( )Sin 5









( )Cos 30

3
2

.2
















Sin

17 
36







Cos

5 
36







Cos

17 
36







Sin

5 
36

















Sin


3

3
2

.3
















Cos

5 
36







Cos


36







Sin

5 
36







Sin


36

















Cos


6

3
2

.4






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.5








2 ( )Cos 15

2
1









( )Cos 30

3
2

.6




























Tan


3







Tan


12

1






Tan


3







Tan


12















Tan


4

1

.7








( )Sin 33 ( )Cos 12 ( )Cos 33 ( )Sin 12









( )Sin 45

2
2

.8








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.9


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.10










1 2







Sin


12

2 















Cos


6

3
2

   





























































:)
:(
:)
:(

























































M
a
t
h
@
M
U
T
:)
:(
:)
:(
:)
:(

, , , ,  Ans3

































.1








( )Cos 

3 5
7

.2






( )Sin 

-3
5

.3






( )Tan 
3
4

.4








( )Sin    

8
35

9 5
35

.5








( )Cos    

12 5
35

6
35

.6








( )Tan   

49
57

25 5
114

.7






( )Cos 2 

7
25

.8








( )Tan 2 

12 5
41

     Ans4

































.1








( )Sin  

5
3

.2








( )Cos  

11
6

.3








( )Tan  

5
2

.4








( )Sin   

5 11
18

5
9

.5








( )Cos    

11
9

5 5
18

.6








( )Tan   

5 11
9

8 5
9

.7






( )Cos 2 

-7
18

.8 ( )( )Tan 2  4 5
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, ,  Ans5 ( )( )Cos 21 ( )( )Sqrt 0.8715 0.934    
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, ,  Ans6 ( )( )Sin 31 ( )( )Sqrt 0.2655 0.515    
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 TrigonometryExercise4 Answers for No.14276
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.1








( )Sin 75 

2
4

2 3
4

.2
















Cos


12


2
4

2 3
4

.3














Tan

7 
12

 2 3 .4














Tan

11 
12

 2 3

.5








( )Sin ( )-15  

2
4

2 3
4

.6 ( )( )Csc ( )-345  2 3 2

.7
















Cos 

13 
12

 
2
4

2 3
4

.8 ( )( )Sec 345 2 3 2
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.1








( )Cos 18 ( )Cos 12 ( )Sin 18 ( )Sin 12









( )Cos 30

3
2

.2




























Tan

7 
18







Tan


18

1






Tan

7 
18







Tan


18















Tan


3

3

.3














Sin


18







Cos

4 
9







Cos


18







Sin

4 
9















Sin


2

1 .4













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.5








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.6








( )Cos 50 ( )Cos 20 ( )Sin 50 ( )Sin 20









( )Cos 30

3
2

.7


















Cos


12

2






Sin


12

2 















Cos


6

3
2

.8






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.9











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
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1 2
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
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






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
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
4

2
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.1








( )Cos 

5
3

.2








( )Sin 

21
5

.3








( )Tan  

21
2

.4








( )Sin   

5 21
15

4
15

.5








( )Cos    

2 5
15

2 21
15

.6








( )Tan    

25 5
32

9 21
32

.7






( )Cos 2 
1
9

.8








( )Tan 2 

4 21
17
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.1








( )Cos  

3 5
7

.2








( )Sin  

11
6

.3








( )Tan  

11
5

.4








( )Sin    

5
21

5 11
14

.5








( )Cos    

5 5
14

11
21

.6








( )Tan    

245 11
1081

216 5
1081

.7








( )Sin 2  

5 11
18

.8








( )Tan 2 

12 5
41
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, ,  Ans5 ( )( )Sin 28 ( )( )Sqrt 0.2205 0.469    
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, ,  Ans6 ( )( )Cos 7 ( )( )Sqrt 0.9850 0.993    
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 TrigonometryExercise4 Answers for No.14380
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.1








( )Cos 105 

2
4

2 3
4

.2
















Sin


12


2 3
4

2
4

.3 ( )( )Tan 75 2 3 .4 ( )( )Cot ( )-345  2 3

.5














Csc

19 
12

 2 3 2 .6














Tan 

7 
12

2 3

.7 ( )( )Sec 255  2 3 2 .8






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17 
12


2
4

2 3
4

   









































:)
:(
M
a
t
h
@
M
U
T
:)
:(

, ,  Ans2





















































.1

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









Sin


18







Cos

4 
9







Cos


18







Sin

4 
9















Sin


2

1 .2 ( )( )Cos 100 ( )Cos 10 ( )Sin 100 ( )Sin 10 ( )( )Cos 90 0

.3










2







Cos


8

2

1
















Cos


4

2
2

.4






2







Sin


12







Cos


12















Sin


6

1
2

.5








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.6








( )Sin 70 ( )Cos 10 ( )Cos 70 ( )Sin 10









( )Sin 60

3
2

.7




























Tan

2 
9







Tan


18

1






Tan

2 
9







Tan


18

















Tan


6

3
3

.8








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.9




























Tan


12







Tan


6

1






Tan


12







Tan


6















Tan


4

1 .10






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6
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







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
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
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
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


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




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


.1








( )Cos 

39
8

.2








( )Sin  

3
2

.3








( )Tan 

5 39
39

.4








( )Sin    

3 39
16

5
16

.5








( )Cos   

39
16

5 3
16

.6








( )Tan    

5 3 13
9

16 3
9

.7






( )Cos 2 

7
32

.8 ( )( )Tan 2  3
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.1








( )Sin 

2 10
7

.2








( )Cos  

2 14
9

.3








( )Tan 

5 14
28

.4








( )Sin   

5
21

4 10 14
63

.5








( )Cos   

2 14
21

10 10
63

.6








( )Tan   

243 2 5
248

245 2 7
248

.7








( )Sin 2  

12 10
49

.8








( )Tan 2 

20 14
31
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 TrigonometryExercise4 Answers for No.14393
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





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


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


.1








( )Cos 75 

2 3
4

2
4

.2
















Sin

7 
12


2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4 ( )( )Csc ( )-285  2 3 2

.5














Tan

19 
12

 2 3 .6
















Sin 


12


2
4

2 3
4

.7 ( )( )Sec ( )-75  2 3 2 .8














Cot

11 
12

 2 3
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.1




























Tan

7 
30







Tan


15

1






Tan

7 
30







Tan


15

















Tan


6

3
3

.2








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.3













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.4








2 ( )Cos 15

2
1









( )Cos 30

3
2

.5






























Tan


9







Tan

5 
36

1






Tan


9







Tan

5 
36















Tan


4

1 .6














Cos


9







Cos

2 
9







Sin


9







Sin

2 
9















Cos


3

1
2

.7






2







Sin


12







Cos


12















Sin


6

1
2

.8


















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
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
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.1








( )Cos 

3
2

.2








( )Sin 

5
3

.3








( )Tan  

5
2

.4








( )Sin   

5 3
6

1
3

.5








( )Cos    

3
3

5
6

.6








( )Tan   

8 5
7

9 3
7

.7








( )Sin 2 

3
2

.8 ( )( )Tan 2  4 5
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.2








( )Cos 

3
2

.3






( )Tan 
3
4

.4








( )Sin    

3 3
10

2
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.5








( )Cos    

2 3
5

3
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







( )Tan    

25 3
39
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13

.7






( )Cos 2 
1
2

.8






( )Tan 2 

24
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 TrigonometryExercise4 Answers for No.14417
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.1
















Sin


12


2 3
4

2
4

.2








( )Cos 105 

2
4

2 3
4

.3 ( )( )Tan 75 2 3 .4 ( )( )Sec ( )-105   2 3 2

.5














Csc 

23 
12

2 3 2 .6








( )Cos 165  

2
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
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11 
12
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





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 
2
4

2 3
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.1
















Sin

11 
36







Cos


18







Cos

11 
36







Sin


18

















Sin


4

2
2

.2








1 2







Sin


8

2 















Cos


4

2
2

.3










( )Tan 10 ( )Tan 20

1 ( )Tan 10 ( )Tan 20








( )Tan 30

3
3

.4








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.5
















Cos

2 
9







Cos


18







Sin

2 
9







Sin


18

















Cos


6

3
2

.6






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.7








( )Cos 30 ( )Cos 15 ( )Sin 30 ( )Sin 15









( )Cos 45

2
2

.8


















Cos


12

2






Sin


12

2 















Cos


6

3
2

.9
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




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








2



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

Tan


8

1


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

Tan


8

2



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





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

Tan


4



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

Tan


4

.10










( )Tan 72 ( )Tan 12

1 ( )Tan 72 ( )Tan 12
( )( )Tan 60 3
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.1








( )Sin 

2 10
7

.2








( )Cos 

65
9

.3








( )Tan 

2 10
3

.4








( )Sin   

2 10 65
63

4
21

.5








( )Cos   

65
21

8 10
63

.6








( )Tan   

196 5 13
55

486 2 5
55

.7






( )Cos 2 

49
81

.8








( )Tan 2  

12 10
31
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, ,  Ans5 ( )( )Cos 40 ( )( )Sqrt 0.5870 0.766    
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, ,  Ans6 ( )( )Sin 3 ( )( )Sqrt 0.0025 0.052    
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